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Flight Lieutenant (to Lawrence): Where did you go last night, Lawrence?

Lawrence: To a place West of London, Sir.

Flight Lieutenant: By bus or by train?

Lawrence: Motorbike, Sir.

Flight Lieutenant : I see. Why did you return late?

Lawrence: I fell off it, Sir.

Flight Lieutenant : Were you drunk?

Lawrence: No, Sir. I only drink water, and I’m rather particular about that, Sir.

Flight Lieutenant : How did you fall off?

Lawrence: I was going through a small village rather fast, but with a good ten minutes in

hand, when a dog ran out into the street and I swerved. I was thrown off and |
was left with very little motorbike. Then it became necessary to run...
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2 éléments exigés :1. Lawrence est convoqué parce qu’il est arrivé en retard.

2. Son retard est dii a un accident de la circulation.
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